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2ẍx+ 6ẋ+ x2 = 0.
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3ẍ+ 6ẋ+ x2 = 0.
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5ẍẋ+ 8ẋ+ 4x = 0.
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3ẍ+ 6x+ xẋ = 0.
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4ẍ

√
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− xẋ = 0.

m/n? @MBND E ẋ0 = 1
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xm/n(1)
xm/n(2) ����

3.4641 � � ������� � �����
14.1986 � � ��������� �����
−11.2500 � � ������ ���� � ����¡
6.0000 � � ¢£�¤�� ¥�¤£�¦§
−4.0000 � � ¨ ©��� ��ª¤�¦«
−0.0833 � � ������� � �¤��¬
0.0039 � � ­��®����¯ ­�¤���°
−7.0000 � � ±� �¤���� ²�����³
−16.0000 � � ´��¤� ���� ¢��µ������¶
6.0000 � � ·�µ�����¤��� ·��ª���
1.9593 � � ¥�©���� ´�������
1.0000 −1.0000 84.5(1.5ẍ− x(3)) + 26ẍ+ 3 ¸�¤���� �������ª¤��
2.3094 � � ·��¹�¤ º��»��¤�¡
−10.0000 −20.0000 (−10ẋ− x)2 = 50(−5ẍ− ẋ)�§
−10.0000 � �¼½¾ ¿ ÀÁÂ �ÃÄÅ Æ


